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Third Semester B.A./B.B.A./B.Com.LL.B. (Five Year Integrated) Degree
Examination, September 2018
Paper - IV : JURISPRUDENCE

Time : 3 Hours Max. Marks : 80

PART - A

Answer any five of the following not exceeding 50 words each. Each question
carries 2 marks.
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. Actus reus and Mens rea.
Substantive and procedural law.
Advantage of codification.

Mistake of law and mistake of fact.
What is positivism ?

Rights of an unborn person.
Concept of person.

Ratio decidendi and obiter dicta. : (5%2=10 Marks)

. PART-B

Answer any four of the following not exceeding 120 words each. Each question
carries 4 marks.
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Write short note on analytical school of jurisprudence.

Write a short note on Rawls theory.

Examine Salmond’s concept of law.

What is possession ? What are the different kinds of possession ?
Explain title and what are the classification of title ?

Write a short note on Hart-Fuller debate. (4x4=16 Marks) -
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PART -C
Answer any four of the following. Each question carries 6 marks.

1. Xentrusted Y for clearing small forest in his land. While doing the work. Y found
a gold chain and kept with him without informing X. Later X came to know about
the incident and demanded the gold chain back. Y refused to deliver the gold
chain because X is not the true owner of the chain. Decide.

2. A person named ‘Z’ died unexpectedly due to cardiac arrest. He was living a
lonely life away from his legal heirs. He died without making a will. ‘Z’ was in
rivalry with his legal heirs because of which Z did not receive a decent burial.
During the partition of Z's property, a conflict occurred between the legal heirs
and the incidents led to the damage of reputation of ‘Z’, *Y’, a friend of ‘Z’ gave
a complaint to protect the reputation of ‘Z’. Legal heirs together took a position
in response that the dead person has no right and Y has no locus standi to file
such a complaint against legal heirs. Decide.

3. Mr. X’ incorporated an aviation company where he held 2999 out of 3000 shares.
He was the scle director of the company and was also employed as a pilot in the
company. He has killed in a plane crash during the course of his employment.
Mrs. X', wife of Mr. ‘X’ sued the company for compensation. Decide.

4. A public interest litigation was filed in Honourable Supreme Court of India by
‘Centre against Death Penalty’, an Academic Centre in one of the prominent
law schools in India, for declaring death penalty unconstitutional. Decide.

5. Atemple follows a ritual where children below the age of 15 years was paraded
in a condition where their cheeks are pierced with a sacred iron rod. This ritual is
followed as part of their faith believing that by doing so their family gets wealth
and fame. A public spirited citizen approached Honourable Supreme Court of
India against this custom. Decide. (4x6=24 Marks)

PART-D
Answer any three of the following. Each question carries 10 marks.
. Examine the different kinds of rights.
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. Define international law. Whether international law can be regarded as atruelaw ?
. Examine the meaning of legislation and what are the different kinds of legislation ?
. What is liability ? Enumerate the different kinds of liabilities.

. Discuss various theories of punishments and make a comparative evaluation.
(3x10=30 Marks)




